Test: 2017 Primary 1 - Term 2 (SA1) Chinese (Rosyth)
Points: 25 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 12 Primary 2 Chinese (Term 2)

(—) EHE: 29 (BE19)
IS HIERRIET.,

IRIRTEIZE .
A) shi

B) zhi
C) chi

Question 2 of 12 Primary 2 Chinese (Term 2)

BB PEAEEL.

A) ban
B) bao
C) bai

1 pt

1 pt



Question 3 of 12 Primary 2 Chinese (Term 2) 5 pts

(Z) Eoid: 593 (BRE153)
BEAMIAFIERLR, HGEINEE,

1.1 I AT
201 B B. %
3. ] B c. ©
401 H D. X
501 & E. X
Question 4 of 12 Primary 2 Chinese (Term 2) 2 pts
(2) BEEF: 109 (8fh29)
RIESTIEEINT.
Hi1—EE% (shou) .
A) B
B) F
C) =%
Question 5 of 12 Primary 2 Chinese (Term 2) 2 pts
Zm (wen) KEXRTALTT.
A) ja
B) X
C) 11
Question 6 of 12 Primary 2 Chinese (Term 2) 2 pts

(tai) PHHEERT.

A)
B)
C)

Moo o



Question 7 of 12 Primary 2 Chinese (Term 2) 2 pts

T (wa) , BEHIT,

A F
B) 4
) &

Question 8 of 12 Primary 2 Chinese (Term 2) 2 pts

HEN=R (shan) =,

\

A) /]
B)
C)

-~

E 1

Question 9 of 12 Primary 2 Chinese (Term 2) 1 pt

(M) HEE: 39 (FFE15)
H—HEFESLELE.

]

I ( )

Question 10 of 12 Primary 2 Chinese (Term 2) 1 pt

F ( ) @



Question 11 of 12 Primary 2 Chinese (Term 2) 1 pt

& ( ) &



Question 12 of 12

(h) BEEST: 557 (5&19)
HRIEEEEHIERRIET.

.11
2.[ ]
.11
4.1 1

Primary 2 Chinese (Term 2)

xiang jiao

you ydng

qi ché

féng zheng

pao bu

5 pts



